
POWER 220V AC 38 10% 50/60 Hz

VT1 VT2 2

CT1 CT2 2

OUTPUT 1 4 20 mA DC

5%FS

=((VT1+VT2)/2 )*((CT1+CT2)/2)*1.732

�

�

�

�

�

�

�

�

�

�

�

�

0V AC

0 ~ 420V AC 50/60Hz

0 ~ 0.1A AC 50/60Hz 0.15A AC,

X 0.1A CT

~

500VDC 100M

1500V AC 1

-10 ~ 50 / 90% RH

-20 ~ 65

Ù POWER VT1 VT2 CT1 CT2 OUTPUT

POWER VT1 VT2 CT1 CT2 OUTPUT

4- 117 68 mmÖ3.5

POWER 220V AC 38 10% 50/60 Hz

VT1 VT2 2

CT1 CT2 2

OUTPUT 1 4 20 mA DC

5%FS

=((VT1+VT2)/2 )*((CT1+CT2)/2)*1.732

�

�

�

�

�

�

�

�

�

�

�

�

0V AC

0 ~ 420V AC 50/60Hz

0 ~ 0.1A AC 50/60Hz 0.15A AC,

X 0.1A CT

~

500VDC 100M

1500V AC 1

-10 ~ 50 / 90% RH

-20 ~ 65

Ù POWER VT1 VT2 CT1 CT2 OUTPUT

POWER VT1 VT2 CT1 CT2 OUTPUT

4- 117 68 mmÖ3.5

1. 1

CT CT1
CT CT2

2.
CN1 1 X:0.1A CN1-1 CN1-2

CN2 2 X:0.1A CN2-1 CN2-2

CN3 U-V-W CN3-1 CN3-3 CN3-5

CN4 220V AC CN4-1 CN4-2; 380V AC CN4-1 CN4-3

CN5 4~20mA DC CN5-1 CN5-2
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20mA

20mA (W) 420 V * I A * 1.732
4mA W 0

103:0.1A
20mA 420*103*1.732 = 75 KW

0mA

I

.

TPT3-CT0100

.

TPT3功率变送器，配2个100A：0.1A的电流互感器


